B EdREAS (07 SEERE L5 S22
. BLEEE | m—
ﬂ'ﬁ . EESR WA RAA LEAFES  RESREY  Toy®., | i = B
2ERVEBEERSL  BUTFTHA. %3 F|
fRER ;231 JRAE. ReSED BEARSEE. | E |

— - EFE (Gtso s EBE4S)
1. The four principles of scientific management include all the following except:
A) one best way to perform the job. B) bureaucracy.

C) financial incentives. D) scientific selection of personnel.

2. Decentralizing means the organization:

A) establishes an efficient bureaucracy. ._Biest;gi_ishes participative decision-making,

C) appoints functional foremen. — D) creates a separate division for each product.
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3. Clarifying your objectives when solving a problem include all the following steps

except:

A) converting concerns into objectives. B) banishing fuzzy thinking on objectives.

C) testing your objectives. D) identifying alternative solutions.
4. Lower-level managers usually deal ﬁth — decisions.

A) nonprogrammed ] ﬁrégnammed

C) unexpected and unique — D)s sTrartegm

5. The selection and interpretation of information we receive through our senses and the
meaning we give to the information is:

A) knowledge. ___B) perception.

C) psychological set. %tﬁded rationality.

6. A manager's values, abilities and limited capacity for processing information restricts

his/her decision-making rationality accordirg to the theory of decision making.

A) cognitive B) bounded rationality C) rational D) classical

7. Planning can't eliminate change. Managers plan in order to
A) be prepared for when changes in managementat the top occurs

B) anticipate changes and develop the mos nTns“t-eﬁdive response to changes

C) have the appropriate materials ava‘iwbk w:lﬁen the demand for them comes about
D) decide what needs to be done when a cﬁange in environments happen
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8. The goal of forecasting is to provide managers

A) decisions as to what customers will be demanding and when
B) with information that will facilitate decision making

C) accurate predictions of trends and events

D) information about the dynamics of environmental change

9. Concentration, vertical integration'and diversification are examples of a strategy.

A) competitive. B) functional. —— C) corporate-level. D) global.

10. Determining the duties of the jobs and the kinds of people to hire for them is:

A) recruiting B) job analysis  C) job satisfaction D) selecting

11. Our behavior is motivated by of stimuli that reach us via our sense organs.
A) experience B) self-efficacy ——C) perceptions D) self-concept

12. A leader without is reill;m_f—;leader because he/she has no chance of

i

influencing anyone to do anything. -

A) professional skill B) motivation C) power D) drive

13. The nonverbal part of communicating is more important in some societies than in
others because:

A) gestures have different meanings in-differentcultures.

B) different societies utilize different communication channels.

C) a message's verbal content is more impbltagt than nonverbal content.

D) some societies do not utilize nonverbal communication.

14. A governmental influence that is usually aimed at reducing the competitiveness of

imported products or services is its:

A) trade barriers. B) quotas. ——— ——C€) command economy. D) tariffs.
15. Faster, more responsive decisionsi%—'bie @ﬂe by organizations.
A) compartmentalized B) flat | — :_LE) tall D) matrix
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16. Participation of two or more companies in an enterprise in which each party contributes
assets, owns the entity to some degree and shares risk is a:
A) direct investment. B) wholly owned subsidiary.

C) joint venture. D) strategic alliance.

17. Successful global management requires

A) enhanced sensitivity to differences | mﬂa;ie_;aijcustoms and practices
B) teaching English to foreign nationals —
C) Americanization of foreign managers L

D) rigid application of home-country practices

18. A tendency to respond to people or events in either a positive or negative way is:

A) perception. B) attitude. C) stereotyping,. D) self-concept.

19. A theory that suggests that employees compare their inputs and outcomes from a job
to the ratio of input to outcomes of grei_e;_:::anﬁtdthers is known as
A) goal setting ﬂTeTquuif};lheory

C) action motivation D) reinforcement theory

20. The most widely used control device is a:

A) income statement. B) budget. _ Q) balance sheet. D) audit.
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